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CHEMISTRY 

CHE-09 : BIOCHEMISTRY 

Maximum Marks : 50 

Note : Answer any five questions. 

All questions carry equal marks. 

	

1. 	(a) Give any three general features of genetic 	3 
code. 

(b) Give the enzymatic activities present in 41/2 
DNA polymerases. Explain okazaki 
fragments. 

(c) The TCA cycle is said to have a central role 21/2 
in metabolism ; justify the statement. 

	

2. 	(a) Write short notes on any three of the 	9 
following : 

(i) Lymphokines 

(ii) Allosteric regulation of enzyme 
activity 

t - RNA 

(iv) Essential amino acids 

(b) What are the co-enzymic forms of vitamin 
B6 ? Name them. 
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3. 	(a) Depict the following graphically. 

(i) Effect of pH on the activity of an 

enzyme. 

(ii) Oxygen binding curve of 

haemoglobin. 

(b) Name one biomolecule with peptide bond 	4 

and one biomolecule with phosphodiester 

bond. Also write the structure of these 

bonds. 

(c) What are reducing and non-reducing 	3 
sugars ? Give one example for each of these. 

	

4. 	(a) Give the difference between a - helix and 	4 

13 - pleated sheet structures of proteins. 

(b) What is the role of plasmid DNA in 	4 

recombinant DNA technology based 

production of insulin ? Explain. 

(c) What is mutarotation ? 	 2 

	

5. 	(a) Why are the photosynthetic pigments 	4 

arranged in chloroplast membrane and not 

in the solution in the stroma ? Write down 

the first reaction of the calvin cycle. 

(b) Write down the Physiological functions of 	3 

gluconeogenesis. 

(c) Name the storage polysaccharides present 	3 

in animals and plants. Indicate the 

structural differences between them. 
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6. 	(a) What is the relationship between vitamin 

'A' and vision ? Explain the visual cycle in 
the rod cells. 

(b) Define any three of the following : 

(i) Primer 

(ii) K m  

(iii) Rancidity 

(iv) Anaplerosis 

(c) What are the functions of iron as a trace 

element in humans ? 

	

7. 	(a) Name the cell organelle where peptide chain 	3 
elongation takes place. Explain the process 

in brief. 

(b) 	Fill in the blanks : 	 5 
(i) The bacterial cell wall structural 

polysaccharide is called 

(ii) The mitotic spindle is made up of 

(iii) Golgi bodies modify proteins by 

(iv) 	  is the precursor of 

prostaglandins and leucotrienes. 

(v) The deficiency of vitamin 	 

causes infertility in animals. 

(c) Give a brief account of Hill's experiment. 	2 
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1. 	(a) 	zik 	cl -1 	'Tuf 	I 	3 
(b) t. .7T. (DNA) 4i(-114t4 	 -Own-  41/2 

fW-411-r17 I 3-47A-r*-1-  4-0 etC1 	Tlf-A7 
(c) (TcA)19h 	ilfrrwr 21/2 

t *+rte 	Iry --1-*1 

	

2. 	(a) 	(Ad 	fch.67 677 -ER Tffkr7r fe-ctuft 	9 
f-ffra-R 

(i) Fr-1441,4,1*i 
(ii)  
(iii) t - RNA 

(iv) 31-r-9-414 k1:11-9 

(b) 	old! 4-1-1 B6* +1 ,11141 Tcr ct) 	? dicta 	1 
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(i)  
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(iii) fq-faTfRtai 
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(b) fir P-1.1-4 41 1:0 	: 	 5 
(i) 	azlr 	r 	cb)rtair f41- 	4t-cfruclich 

47ri144.m*s 	 t 

	

RITO 	 t 

(iii) ta-lt 	(co-IRitul 	*ig 	 

gRI 

(iv) CIF-s-1 14T 

(v) f 	d111-1-1  	c111-1 	.13411 

	

G4P-1-1 	 

(c) 16e1 *1141 	TtrecT7 ciRsqlwlf--A7I 	 2 
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